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LB 1LICRTERY 2T A— AKEREID 0.09m KFEETHBOHAB X ELKDOLLELZ ZNE
105,13 295, KE&D 100m EHIZEITDHADEI % KEFES TRD K.
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Pe + Yath + 1007 = pe + Y4 (100 + h — 0.09) + 0.097,,
~0.097, + 74 (100 — 0.09) — 100+,
Yal — Ya

~0.09 x 90 + 1.3(100 — 0.09) — 100 x 0.5
B 800 — 1.3

h

= 0.213m

P =107 x 0.04 x 0.1 = 12.56 kg

paVa =ppVa...(1)

pa=10+0.1=10.1, VA=702%x0.4=0.05
Pp = Yu(y +1)...(2)

V(10 +0.1)(04 x A) = 7, (10+ 1+ y)(y x A)
P+ 11y —4.04=0, y=0.355m

pp = (1+0.355) x 10* = 1.355 x 103

Fy =ppA =1.355 x 10® x 70.2%2 = 170.2 kg

Ppner = 103 x 1.5 x (1 x 1) = 1.5 x 103 kg

1 (1+2)V3
2

V= 37X 1+ =4.16m?, Pype =4.16 x 10% kg



